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No. of Questions : 150

ol ot g 150
1
Time : 25 Hours Full Marks : 450
1
W : 25 W2 yutly : 450

2

Note : (1) Attempt as many questions as you can. Each question carrics 3
: (Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted

question. ,
-mﬁmﬁmnﬁﬁmwﬂmﬁnmma(m)
eiaﬁzﬁr%lmmaﬁ?m‘mﬁaﬁsmmf

yE FArG " & WA I B | _
(2] If more than one alternative answers seem o be approximate to
the correct answer, choose the closest one.

qﬁ@m%ﬁqﬁmﬂﬁlaﬁ?%ﬁmmﬁ,ﬁrﬁw
g8 I 2

{3) This paper comprisecs of three sections : Chemistry,Physics and
Biology. Each section contains 50 questions.

mwﬁ_ﬁw%:wﬁm,ﬁtﬁmﬁaﬁqﬁ
St e S@® @vE 3§ 50 W
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01.

03,

Section - I
wqE — ]
Chemistry
(Marks - 150)

Which one among the following compounds is most easily sulphonated ?
|: 1} Benzene ; (2} Toluene
(3] Chlorobenzene (4) Nitrobenzene

ﬁwﬁmﬂﬁﬂ%ﬁaﬂﬁﬁwa@mﬁ%mﬂm
22 |
(1) Ff (2) MgeT
(3) FARE<IA (4) TRER=NT

I

The formation of cyanohydrin from a ketone is an example of :

(1} Electrophilic addition {(2) Nuclebphilic addition
(3) Nucleaphilic substitution {4) Electrophilic substitution

ﬂ%ﬁaﬁﬂmﬁmsﬁﬁﬂqﬁaﬁrm%

{S}Wﬂﬁwmw ¢4Jz@ra§mﬁﬁnﬁwm=r

An 5, reaction at an asymmetnc carbon of a compound elways gives:

(1} an enantiomer of the substrate

(2} a mixture of diastereoisomers

(3] a product with Opposite optical rotation
(4) a single stereoisomers
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Re A @ oTaEfE HEE WS, rfufRar wAem &AW #
(1) Jed w1 afalRre w9

(2) owmfafies fatRmeaTdr a1 B

(3) Prafia usfe goe & '™ OF I

(4) uFHE BEmEEETEd

Which of the following compounds exhibits stercoisomerism ?

(1) 2 - methyl butenc - 1
{2) 3 - methyl bl{tyne -1
(3) 3 - methyl butiannm acid
(4) 2 - methyl butanoic acid

ﬁﬁﬁlﬁﬂﬁzﬁﬁﬁ%%mfﬁﬁqﬂw@rnﬁ?ﬁﬁm%?
(1) 2 -frame G- 1 (2) 3 -TrenEsr SgRIEA- 1
@) 3P SIS T (4) 2 -Prenge SYEFIEE 30

When propyne is treated with aqueous H,SO, in the presence of HgS0,,

the major product is .
L

{1] Propanal (2) Acetone

{3) Propanol L (4) Propyl hydrogen sulphate
4 SR S TG H,80,% HgsO, & SRRy & gyafa &
¥ &t 351 A # IER o9 R G

(1) AR=S @ e

(@) W (4) g ST ST
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06.

08.

To distinguish between 1 - butyne and 2 — Butyne, which of the
fﬂllm;.ring reagents would you use ?

(1) H, Lindler's catalyst (2) Dilute H,80,, Hg8Q,

(3) Bromine, CCI, (4) Ammoniacal Cu,Cl, solution

- T 3 2- FEET B du A o wWw # $ Rig,
ﬁﬁ%@ﬁﬂﬁmﬁ?—mmﬁmﬁmnﬁmaﬁﬁ?

(1) H, R=a@ &1 I8 (2) &F H,S0,, HgSO,

(3) smEe, col, (4) STFEmEEE Cu,ClL freg=

A solution of {(+) - 2 — chloro - 2 — phr:nylethane in toluene racemises
slowly in the presence of a small amount of SbCls, ‘due to the formation
of :

(1) Carbocation (2) Carbanion

(3) Carbene (4) Free radical

(+) -2 - g ~2—ﬁr—nsasa=fa‘aﬁmmrqﬁa§3=rff8bctsﬂ%ﬂgq
Wﬂﬁaﬁw?ﬁiﬂmqaﬁﬂﬁlw'eﬁ%—aﬁ%aﬂﬁwmw%:

(1) HEtaga (2) HEHETET
(3} == 4} @i e

Chlorobenzene can be prepared by reactmg amlme with

{1) Hydrochloric acid

(2) Cuprous chloride

(3) Chlorine in the presence of anhydrous alurninium chloride

[4)  Nitrous acid followed by heating with cuprous chloride



10.

11.
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FARRT N B on aean 3, W @ Fre @ T B w0 S
(1) TEEEFALED T

2) FIE FAES

(3) W@ﬁmﬁmﬂmﬁm%m
{4} AT o B WIE FYIE ANES B ;Y W A W

When phenyl magnesium bromide reacts with tert — butanol, the
product is :

{1} Benzene (2) t- butyl benzene

(3} - butyl phenyl ether (4} Phenol

mﬁmﬂﬁ#ﬁﬁmﬂﬁmﬁﬁwgaﬂa%maﬁfﬁmm%
RN T ST E

(1) A 2) A-FRea A==

(3) ﬂ-ﬁﬁﬁww (4) M

Among the following which one gives positive iodoform test 7

(1) 1 - pentanol (2) 2 — pentanonec

{3) 3 ~ pentanonec (4) pentanal
ﬁmﬁrﬁaﬁﬁﬁﬁ#@iwméﬁ:%mt? .
ny 1-I=FE (2} 2- YT

(3) 3- e (4) T

Which reagent among the following ones would you use for conversion
of butane — 2 — one to propanoic acid ?

{1} Tollen reagent (2) Fehling: solution

(3) M&OH/ Nal/H' (4) NaOHL/H ©
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=T -2 7% & MNeH T ¥ AT ST B Ry Priniam
# 8 = o afheds g s S8 7

(1) A s (2) BuRPT R+

(3} NaOH/ Nal/H’ (4) NaOH/I/H*

12. Benzoyl chloride is prepared from benzoic acid by :

(1) cl,hy (2) so,Cl,
(3) sacy, (4} Cl,, H,0
AT wHES, ¥4 ey onar @ AREw ot @ Fwr
(1) Cl, hvarq (2) S0,CL a@rT
(3) socl, & (4) Cl,, HO &RT
13. Benzamide on treatment with POCI, gives :
(1} Aniline (2) Benzylamine
(3) Benzonitrile ' {4} Chlorobenzene
SEE & WE POCI, # sl 0¥ qv 3ar & -
(1) uffes | (2) *~mEai
3) IR (4) FAOXA
14. Which one among the following bases is the strongest ?
(1} Aniline (2} p — nitroaniline
(3) m - nitroaniline (4) Benzylamine
Frfotaa o1l & & 9 o sme e R 7
(1) ufifRr 2) p- "EEafTE
(3) m- g (4) F=mednfim



15.

lﬁ'

17.
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Which of the following compounds will not react with alcoholic KGN 7
{1} Ethyl chloride (2) Acetyl chloride
(3) Phenyl chloride (4) Benzaldehyde

ﬁ%ﬂﬂﬁﬁﬂﬂﬁ?—ﬁﬁ@mﬁ_KCN%mmﬂ
H 7

(1) FUES FNULS @ ofgfed FaEs

(3) FeEe FES (4) FIVIRSEETS

Aryl halides are less reactive towards nucleophilic substitution
reactions as compared to alkyl halides due to !

(1) resonance stabilisation

(2) inductive cffect

(3} formation of less stable carbocation

{4] longer carbon - halogen bond ' .

ofter Bomggd cRerw YamEd A gaw A RS
T & ofx F fearde frer ¥, HeT ¥

(1). oTgTE RerdHIoT

(2) H W

(3) w9 R FETEEET W T

(4) FEA-FTE B T T

Which of the following has the smallest heat of hydrogenation per
mole ?

(1) 1-butene

(2] cis-2 - butene
(3) -trans -2 - butene
4y 1,3~ butadiene
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18,

19.

20,

ﬁ%ﬁaﬂﬁ%ﬂ%mmﬂamwmﬁm
et & 2

(1) 1- &g 2) Ra-2- 32+
(3) g -2- ;g3 (4) 1,3- sgersTEA

Which of the following will decolourise alkaline KMnQ, solution ?

ﬁwﬁf@aﬂﬁﬁawmm‘ﬁmaﬁmm&m?
(1) CH, (2) C,H, (3) C,H, (4) ccy,

Which of the following is smallest in size ?

ﬁwﬁ%ﬂﬂﬁﬁqwﬁmﬁﬁa%?
(1) F (2) o (3) N* (4} Na’

The number and type of bonds between two carbon atoms in CaC,
are

[!) one o and one x bond
(2) one o and two g bonds
(3) one ¢ and one - half « bond

(4} one ¢ bond

mcﬁﬁwﬁmaﬂ%mmﬁaﬁmeﬁ?mk
(1) T o oM @ x 39 R @& o M@ x g
{3) Q?ﬁaGﬁTE{EE-GﬁﬂxW[ﬂ UE o g

10
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21.

22.
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Electrolytic reduction of alumina to aluminium by Hall-Herouit process
is carried out :

(1) in the presence of NaCl

(2} in thé presence of fluonte

(3) in the presence of cryolite which forms a melt with lower melting

temperature, )
(4) in the presence of cryolite which forms a melt with higher melting
temperature 1

qﬁgﬁmﬂ@gﬁﬁwﬂﬁgﬁmﬁw—%ﬂaﬁﬁﬁmﬂm%:
(1} NaCi®h Iufafy &

(2) ﬁaﬂ?ﬁtaﬁmﬁuﬁﬂ
(3) mﬁmﬁﬁﬁmmamﬁwm%
(4) m@maaﬁaqﬁﬂﬁﬁﬁaﬁnm%mﬁwam%

r

One mole of calcium phosphide on reaction with excess of water gives :
(1) one mole of phosphine '

(2) two moles of phosphoric acid

(3) two moles of phosphine

{4) one mole of phosphorous pentoxide

%ﬁﬂﬂﬂuﬁlﬁtaﬁrmﬁmmﬁaﬁaﬁm%mwww

B ¥

23.

(1) BRHA H 6 AA

(2) FERIH ord & |

(3) WrEAE A & S

4) FIERTE SRS # Th Hid

There is no S - Sbond in :
s-sua # 7 ¥ .
(1) S,0% (2) S,0.F (3} 8,0, @) 8,07

11
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24.

251

28,

27.

-

When MnQ, is fused with KOH, a coloured comnpound is formed, the
product and its colour are : '

(1} KMnO, , purple (2) KMnO, , purple

(3) Mn,O,, black (4} Mn,0,, brown

o MnO, KOH % &Y 6997 &1 & &) ws i1 N a1 Prafor
€T B, IO ol IEer T R g

(1) KMnO,, &mt {2) KMnO, , T

(3) Mn,0,, FEn (4) Mn0,, 93U

Spin only magnetic moment of Hg [Co(SCN),] is :
Hg [Co(SCN),] #1 Ferer il aror ol & ¥
1 2 & 3) Vs 4 V24

Sodium salt solution of an unknown anion when treated with MgCL
gives white precipitate on boiling. The anion is - '

mmw_mm%ﬁaﬂwﬁmg%mmﬁw
m%ﬁmﬁwmmhtlwm%:

(1] S0 (2) co> (3) HCO; (4) No;

B (OH), + NaOH —— NaBO, + Na [B{OH),]+H,0. How can this
reaction be made to proceed in the forward direction ?

(1} by the addition of borax

{2) by the addition of Na, HPO, _
{3) by the addition of trans — 1, 2 - diol
(4} by the addition of Cis - 1, 2 - diol

12
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B (OH), + NaOH === NaBO, + Na [B(OH),]+H,0

v aiffear @ o 2 Ram # 3 ag WY ¥ 7
(1) MW S FIo &

(2) Na, HPO,® WdH 200

(3) ZI - 1, 2 -SwaiE & daoe &

4) R -1,2- SEAW & Ao

The types of bonds present in CuSO,. SH,O are only :
{1) clectrevalent and covalent

{2) electrovalent and coordinate covalent

(3) electrovalend, _cmralcnt and coordinate covalent
{4) covalent and coordinate covalent

CusO,. 5H,0 # ovq & WE I o ¥ dad
(1) Rmgg w9 AR qEEdTS &9

(2) fregg wa ol SqEEATES T

(3) fagg @9, wEEdeE AT IqqEEdTe T4
(@) weEAE IR IUEEHASE T

Among the folllowmg ones which one haa the paramagnetic moment ?
Prafafas 3 & @ oF YahaARs A ¥ 7

(1} [Cr (H,0)]" (2) [Cu (H0),)"
(3) [Fe (H,0)]" (4) [Zn (H,0)"
30. The compound insoluble in acetic acid is : |
(1) Calcium oxide (2} Cakdum oxplate
(3) ' Calcium hydroxide (4) Coldium casbapate

13
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31.

a2,

33‘

ufates ofrs F agerisiia difs 2
(1) BRI oifeass (2) %ﬁfﬂmaﬂaﬁé\?
(3] IRTIH FETEAES (4) Hfcwaw wEEe

The compeound havirz tetrahedral geometry is :

dfes = arg JaHaaa sfeef 8t & -
(1) [Ni (CN),J* {2) [Pd (CN),J*
(3) (Pd CL)* (4} [Ni CLjJ*

A solution of Na,SO, is electrolysed using inert electrodes. The
products at the cathode and anode are respectively :

Naﬁ@%ﬁﬁﬂ#ﬂﬁ%ﬂﬁﬁﬂﬁﬂ%ﬂﬁﬂﬁﬁﬂﬁ'ﬁﬂﬁﬁﬁﬁﬂ
T B | $edfrs of ol Ov Swre meer ¥
) H,,0, (2 0,H, (3).0,,Na (4} 0,, 80,

The process used for extractive metallurgy of magnesium is :
(1) thermite reduction (2} self reduction

(3) aqueous solution electrolysis (4) molten salt electrolysis

it & wig Frepdor & R o seivy @ o § -
(1) w=ige Iuagw

(2} @& Ig=E

@) S Reas @ Ry sz

(4) TS ST B Ry srqge

14
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35,

87.
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The octet rule is not valid for :

st g Reed g arg B 7
(1) NO 2} © (3) CO, 4) H,0

2
Which of the following has the most stable +2 oxidation state ?

ﬁwﬁﬁaﬁﬁﬁﬁ?ﬂ%mﬂmmmaﬂmwm%?
(1) Sn (2) Fe (3) Pb (4) Ag

The molecule which has zero dipole moment is :

Rt oty & g g fgaer goie @ 7
(1) CH,CL (2) BF, (3) NF, (4) clo,

2Ng is the more stable isotope of Na. The process by which #Na can
undergo decay is :
(1} p- emission (2} P emission

(3] K - electron capture (4) a- emission

ﬁﬁmﬂmaﬁmmmﬂwaﬁ,aﬁm—%ﬁﬁﬁr%
frad & *Na & &0 &1 8 7

1) p S (2) pr IS
(3) K- g 7E @) o- I

15
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38.

39,

41.

32 g of oxygen contains 6.023 x 10** molecules at NTP. How many
sulphur atoms are contained in 32 g of sulphur under the same

conditions ?

32 g SIS NTP U 6.023 x 10% 7vpailt Y wfeafer @een 31 3
F T e A 32 g WY e SO} WA T & 7

(1) 3.012 x 102 (2) 6.023 x 102

(3) 12.046 x 10% (4) 2.0 x 102

The mean kinetic energy of He is ;

{1) twice that of H, {2] same as that of H,
(3) four times that of H, (4) half that of H,

He 3 et St & o1 & -

(1) H, % g (2) H,® |99

(3) H,® & T (4) H, % oy

2 g of H, diffuses out from a container in 10 minutes. How much
amount of O, would diffuse from the container in the same time under
under conditions ?

%Wﬁ?gﬂglﬂﬁﬂfﬁ'ﬂﬁﬁmﬁ_leﬂW
99 # f&aw 0,9 § Rrafta ém ?
(1) 05¢g (2) 2g (3) 4¢g (4) 8¢g

Urea is added to 1 litre of water to an amount such that AT, |K,
becomes 0.001. What is amount of urea added ?

%mmﬁmqﬁmﬁaﬁﬁﬁﬁmwmmroﬂm
ﬁmalﬁaliﬁgsmqﬂww%?

(1} 60g (2) og !3}' 06g (4) C.06g

16
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43,

45,
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1
K, /K. for the reaction CO+ 3 0, = CO,is:

sifefn CO + 5 0, = Co, B Rl K /KE
(1) RT @ 1IJRT @ JRT 4) 1

The pH of a solution containing 0.1 M CH,COOH and 0.1M HClis :
s faeras s 0.1 M CH,COOH 1T 0.1M HCl T& 3, wpH ¥
(1) 1 (2) 2 (3) 3 (4) 4

if ja - x)" vstplat where (a - x)! = reactant concentration at time 't', is
linear with positive slope which does not pass through the origin, the

order of the reaction is :
(1} zero (2) one (3) two. (4} three

af (a—x)'d t(m}$ﬁam@ﬂat,mﬁmté-xy-1- ' HRY
mﬁmﬂmi@qum%aﬁ?ﬁwm
ﬁ'maﬁw,maﬁaﬁﬁ:%:

(1) 4 2) (3 = (4) o

The rate of a reaction increases with temperature. The reaction is
{1) exothermic | \Lw/endnthcrmic

(3) of zero heat of reaction (4] any time
m%mmﬁrﬁsmaﬁﬂa@—cﬁ%,aﬁﬁﬁm%:

(1) SemEd | (2) TR

(3) s Fefa st (4) faf st @

17
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46.

47.

How much will the potential of a hydrogen electrode change when its
solution initially at pH = 0 is neutralised to pH = 7 2

(1) increases by 0.059 v (2) decreases by 0.059 v

(3) increases by 0.41 v (4) decreases by 0.41 v

Wﬁ@@wﬁwmqﬁaﬁﬁmwsﬁ%ﬁww
AN PH =08 =T 1% pH =789 2 7

(1) 0.059 v giw 7 gopar 2
(2) 0.059 Va® aT geear &
(8) 0.41VT®H gfs &7 gmmar 2
(4) 041 VdF g2 Fopar 2

The difference between heats of reaction at constant pressure and
constant volume for the reaction -

2CH, M+ 150, (@) - 12CO, (g + 6 H,OM at 298 K in ky i -

2CH, M+ 150, (g - 12 CO, (g) + 6 H,O wiufrgr & forz, ws

(1} -7.43 (2) +3.72 (3) -3.72 (4) +7.43

For a reaction both AH and TA 8 are positive, The reaction will ocour
spontaneously when -

qaseaﬁﬁwrf%ﬁﬁr AH ahrmsiﬁ‘fmqa%:aﬁvﬁ;:na’nﬁn
T AR, Ty

(1) aH =TAS (2) sy <Tas G aH >»TAS  (4) oy »>TaS

18



14U/115/10¢)

4%. The number of Bravais lattices in a cubic crystal is :

mﬁﬁ?@ﬂmmﬁrﬁfaﬁﬁm%:
(1) 1 -\9/3 (3) 7 (4} 14
50, Bragg's law is given by :

S i Foraw Frer g afaaiéa Bear T 2
(1} mh=2sin6 {2} m=2dsin@ (3) 2d=misin@ (4] d=nksint

19
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Section -1
g - 11
Physics
(Marks - 150)

§1. The velocity of a particle depends upen t as V(t} =2A+ Bt + Ct2
velocity is in m/s, the dimensions of A & B are :

T HT B AT t 9T Ff e B, V(ti = A+ Bt + Ct? ) of& 37 fi. Qo
R @ AT B BT 2H) -

(1) MLT & MLT) (2) {MLT"|& [MPLT?]

B MLT f& MLT| (4) |MLT J& (ML

52. A system has basic dimension as density [D], veldcity [V] & area [A].
The dimensional representation of force in this system is :

wﬁmuaﬁﬁaﬁmm[na,avmwﬁmmmw%r
¥ M A aw o Rl gw @ Prm g

(1) Javep| (2] |a*vo]
3) [|avp? (4} |a*vp

83. Angle that the vector ; _ 2i + 3) makes with x-axis js :

ww;=2;+3;,x-maaawamma,aawmfma%:

(1 sin—l(_;ﬂJ (2) [anj[_;J' 3) sin_l(-J%J {4) tan"(%]

20
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85,

56,
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M
A particle of mass L'E] is circulating on the circle of radius r having

angular momentum L, then the centripetal force will be ©

M ' i
['z'] e B O 0T 4T £ B # g U Ry gW Frta a9
L1 Fo7 F IR FE ST

b1

M 2 L
1 @) 2T @)

Mr? Vel
Two masses A & B each of mass M are fixed together by a massless

spring. A force F. acts on the mass B. At the instant shown the mass
A has acceleratibn a. What is the acceleration of mass B ?

sarft Fai ZTT QM ESET A Tl B ooy # 92 & uF AW
P FATMH B I %1 HTT & | FEE A w gea @t a R &
aﬂﬂﬂm%wwaﬁmwaﬂn?

M M

Al-mm e

B 3 F F F

(1) [;]*ﬂ (2 a-[;] 3) [—r;)—h @) 23—[;]

A false balance has equal arms. An object weight w, when placed in
one pan & w, when placed in the other pan. The true weight w of the
object 18 :
mgﬁ—gﬁaﬂﬂﬁﬁﬁwﬂmwaﬁmm.mﬁw
ﬁqmmﬂm'wlwm%@hwmﬂw% o B ) A%
&1 areiaes W w BT ¢

{1} Jw,w! . {2) 1!w$+w§
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57.

58.

39,

The human heart discharges 75 cc of blood through arteries at each
beat against an average pressure nil' 10 cm of Hg. Heart beat is 72 per
minute calculate the rate of working of heart in Watt {Pyg = 13.6 gm/
cc).

ol =@ 10 B fAghy H & 7S5cc T TOF U=
® Ty g5t # Srsar 81 #=q YSHT 72 Ui fiFe B 1 55 3 o
mﬁiﬁﬂiﬁmmﬁzﬁmliﬁm-liﬁgmfcc},

{1} 1.19 W (2) 2209w (3) 3.39W (4) 449 W

What will be the depth of water in a tank so that the volume of air
bubble get double from the bottem to surface ? [Py = 13.6 gm/cm?,
1 atm = 76 cm. of Hg |

(1) 5.28 m {2) 1034m  (3) 1567 m (4) 20.86 m

F] OF JAYA G B T8 q I Y G-, T A@T F &
%%fﬁ?mﬁqﬁaﬁﬂmwmgﬂ( Pue = 13.6
AH/BHP, | agaE ~ 76 &R qr)

(1) 5.28 Hex (2) 10.34 dfex

{3) 1567 Hley (4) 20.86 HiTT

A 3 HP motor requires 2.4 KW to drive it. Ity efficiency is about :

WSWW@W%WEAWW&%WM
21 U wH serwT E26h -

(1) 50% (2) 60% (3} 70% (4) 90%

- What is the mass of an electron moving with a velocity of 0.6 ¢ interms

of the electronic rest mass m,?

wﬁmu.ac%ﬁﬂﬁmﬂ%ﬁwmmmﬁm
ARHN m, % &Y F a7 @by ?

I N R
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61. The potential energy u(x) of a particle executing SHM is given by :
{1) uiﬁh%[x—a]’ (2} ufx)=kx+k,x* +kx’
(3) uix)= A cxp (-bx] (4) u(x)=constant
o oad T FXE gQ ©F Fo A Rafrer sot up) B4R
m u{x}=%[x—a}’ (2) u(x)=kx+kx’ +kx*

(3) w(x)= A exp{-bx) (4) wx =Fraars

. .2
62. The two SHM are given by : ¥, =230 [[%) t‘“’]and y, =bsin [[—’;—i]+J]

The phase difference hetween these after 1 second is :
1 :

& g amad A @i § Bar @ : :f.=asin[[%]t+ﬁ] e
}’;=bsin[{2—zij+¢]- | YFoT & g ST B FAIL BN
me @3 ®I @& 3

. 63. A body of mass 'm' is moved to a height equal to the radius of the
earth 'R'. The increase in its potential encrgy is :

o EE @ o s gl 3 e R & SUeT S O S
B oem St & gRe el

o wamg 6 o 0 e

23
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64.

65,

If ‘v represents the radius of the orbit of a satellite of mass 'm’ moving
round a planet of mass 'M'. The velocity of the satellite is given by :
‘™' R B ITAE ¢ FAT A M FHAN F TE D AT N g
T ¥ IumE @ 1y anh -

m V=T g v g M, On

r T T

In English the phrase ‘tip of the iceberg' is used to mean a small

. visible fraction of something that is mostly hidden. For real ice-berg

what is this fraction if the density of sea water is 1.03 gm/cc and that
of ice is 0.92 gm/cc ?

mﬁww‘ﬁmmﬂaﬂ’ﬂwwﬁm%ﬁim
gﬁngﬁm@memwﬂﬁﬁmmﬁw%mwm
1.03 3T /&% &7 M T =T 0.92 IT/A &, @ AR aveaat
ARG el g7

(1) 5.6% ) 10.6% (3) 15.6% (4) 20.6%

A block of wood floats in water with two-third of its volume subinerged,
In oil the block floats with 0.90 of its volume submerged. What will be
density of 0il ? [0, =10°kg/m’]

(1} 530 Kg/m? (2) 740 Kg/m?
(3} 630 Kg/m? (4) 880 Kg/m?

24
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67. A vessel contalns liquid of density 0 as shown. The gauge pressure at
point P is : '

ﬁmaﬂﬂ@mﬂpmﬂﬁ%l-mpﬂﬁme?

() hrg 2) Hpg
3) (H-h)pg (4] (H-h) pgcoss

68. To get the maximuim flight, a ball must be thrown as:
mmﬁm,hﬂmmﬂmﬂmm?

0 G— \/@—*
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69,

TL.

: Water from inside the earth rises through the trunk qf a big tree to

leaves high-up. The main reasen for this is : .
(1) Capillary Action (2) High viscosity of water

'{3) Gravitational force {4) Evaporation offwater

qet & A=Y | 9 At At oftadt o TEEen B o @ wEr | e
geq O Ty R 7 _
(1) HFwEE (2) = w1 S y@E A

(3) TEETREeT T (4) O T AT
The energy needed in breaking a drop of radius 'R into 'n’ drops of
radius 'r' is : :
o 9% 9% Boar R & w8 o B % g5t § R & R o
H TETgEHN BN B e
(4xR? -4xi?} -

T

{3} [(;)’”]-(-;JIR’}T ) (4::1{’_“.;3{1)

T

(1) {4nr*0-42RY)T (2)

A dog barking delivers about 1 m W of power. If thig power is uniformly
distributed over a hemispherical area, what is the sound level at a
distance of Sm ? ' !

ﬁmgmwlﬁnmﬂﬁﬁmm%mﬁrﬂﬂﬁﬁ%
mmﬂmhﬁﬂﬁm%aﬁalﬁnaﬁg&ww
F T T Ee ?

(1) 10 dB (2) 38dB (3) 58dB i (4) 68 dB
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732. The temperature at which speed of sound in air becomes double. of

T4.

ita value at 27°C ?

mﬁ-mﬁmzwc%maﬁwﬂﬁmmﬂﬁmﬁ
w7,

(1) S4°C (2) 327°C  (3) 927°C {4) -123°C

. A wire of density 9 x 10° Kg/m? is stretched between two clamps 1m

apart and is aubjected to an extension of 4.9 x 10 m. What will be
the lowest frequency of vibration in wire ?

(1) 25 Hz (2) 35Hz (3) 45 Hz (4) 55 Hz
o x 10° R /Ade T 9T @ 19 A g | A Rt $ fw

mwmwﬂmnw'ﬂaqﬁiﬂmﬁnmﬂmﬁm
swgfey =T O ? )
(1) 2586w (2) ISEA  (3) 45T (4) 5583

The wavelength of light coming from a distant galaxy ia found to be
0.5% more than that coming from a source on earth. What is the

velocity of galaxy ? -

(1) 0.5 x 10° m/sec (2) 1.0 x 10° m/sec

(3) 1.5x10°m/sec (4) 2.0 x 10° m/sec
g%mm%mﬁmﬁmaﬁmﬁtdnﬁ%mﬂm
kgﬂﬂﬁﬂmﬂuﬁwﬁlma&mwﬁﬂ?
(1) 0.5 =10t WosAo 2] 1.0x10¢ o Ro

@ 1.5x10° Ho Ao (4) 2.0x10° dlo Qo

a7
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78.

In open organ pipe the fundamental note is produced when its length
81 E:

-@Wmﬂw%wﬂmtmm;mt:

. T6.

7T,

A K1
m 5 @ 3 @ 2 @ 2

r

A sphere of diameter 7cm and mass 266.5 gm floats in a bath of
liquid. As the temperature is raised, the sphere begains to sink at
temperature of 35°C. If the density of the liquid is 1.527 gm/cc at
0°C, find the coefficient of cubical cxpansion of the liquid. Negiect
the expansion of the sphere. ;

?ﬁﬁmmmzﬁ,smwwwﬁmﬁﬂmtrﬁﬁ
mwmt*ﬂmmmmmk,mssﬂtﬂgmm
&1 0C AN 9T XA B R 1,527 T, @ KT T SR T
TE AT BN | WA B G TR orin T ¥

(1) 3.5 x 10+ joC (2) 5.5x 10+ /°C

(3) 6.5 x 10+ joC (4) 8.5 x 10 joC

Two plates each of area A, thickness L, and L, and thermal
conductivities K, and K, respectively are joined to term a singie plate
of thicknesas (L, + L,). If the temperatures of the tree surfaces are T, &
T, what is the rate of flow of heat ? '
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78. The variation of PV with V of a fixed mass of an ideal gas at constant
temnperature is graphically represented by the curve !

e ey T & st e e Py QAT G PV AT V  frewrt
g e} Remar orn ¥ 7

PV PV
4 4.
(1) / (2) \
l_'._...—pv . _.._—----—p-v
PV PV
: t
(3 @) L |
— eV e/

9. Athinrodnfiength{ff3}i:placcdalongﬂw_Prin¢ipala:ilnl‘aconca?c
mirror of focallength I’ such that its image, which is real & clongated.
What is magnification ?
wm{rxar_mﬁwmm%gmmﬁmﬁwr&r
ﬂﬂttmﬁftﬂmﬁmamwwhmmﬁwaﬂm? (f Svevever
adfor 2 e wnwnk) |
(1) - 3/2 (@} -2/3 3) 32 | 4 2/3 |

2ol

a9
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BO.

81.

B2.

B3.

The Sun (diameter, d) subtends an angle g radians at the pole of a
concave mirror of focal length ‘f”. What is the diametes of the image of
the Sun formed by the mirror ?

T PIEH AN A <41 & AN 9T gF (=41, d) o- WA w1 oy
aﬁm%rﬁwmﬁ@%mwmﬂ_m?
(1) e/f (2) o (3) (4) of

Deviation § produced by a prism of refractive index p & small angle A
1s given by :

A% p qur Brer o7 AT B9 B & 5 Prew e 8

'{1} S=(w-1)A {(2) d=(u+1)A (3 b=(A-)p (4) E=(A+1)p

Loss of the ability of eye to focus on near & far cbjects with advancing
age, 1s called :

(1) Presbyopia (2) Astigmatism
(3) Hypermetropia (4] Myopia
IR TN B Wy P MY g W Al B S B @ s
i T ww ERh ot ¥, ¥ wwd ¥ |
(1) Todfyar (2) Wedfew (3 EEITEINEY (4) wTRfEy
G B o

The work function of sodium is 2.3 eV, Calcuiate the maximum wave-
length in nm for the light that will cause photoelectrons emitted from
sodium. [h = 6.6 x 10 J.8, ¢ = 3 x 10®* m/ sec|

(1) 4530 nm (2) 330 nm (3) 440 nm {4) 540 nm

30
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g & SAEAT 2.3 §AagE-aee & | Jh H AEH T3
et At et ¥ R B RER BISEdEEE QST § I BT
® 7

[h= 6.6  10% JoRo, ¢ = 3 x 1080 o]
(1) 450%%- (2) 330%Frlo
{3) 440 ¥ o : (4) 540 %o

. Light is polarised to the maximum, whan the incident angle on the

glass surface. is :

Rrm i AT & RIT TR H gaT Wi A Hoe WA
& ? -

{1) 57° (2) 67° (3) 53° (4) 37°

. Bragg's equation will have no solution if
APT HT TR & E R o R TR

= d
(1) A<d @ reu @ <] o

_ The force of attraction between two co-axial electric dipoles whose

centres are r meter apart varics with distances as:

r@ﬂﬁm_mwm%ﬁﬁmﬁmmﬁ

qfEtdm =0 : : : ]
) @ r- @ S W

31
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B87.

89,

Two condensers of capacity C, and C, are connected in parallel. If a
charge 'q' is given to the assembly the charge on the cpacitor C, to
the charge on the capacitor C, is :

R ot ¢, a1 C, o &} ¥R H7 3 2 ¥ ol RA 1
Qe # q oA R o B, ot smdwr et seiiE o, au
C, 9T B

(1} ¢ /e, I e [ R ® cc,

A condenser of capacity 50 uF is charged to 10 volt. Its energy is
equal to ;

(1) 25md  (2) 0.25mJ (3) S0mJ 4} 0.125 4 J
E:fhsnﬁih‘ﬁmﬁaﬂwmﬁa@ﬁmﬁmm%lmm

(1) 2.5 et @ (2) 0.25 Preft S
(3) 50 el E G (4) 0.125 HATZeR SI=T

Given three equal resistances. How many different combinations of
these three resistances can be made ?

mwﬂmﬁﬂtahﬁﬁwm 3 =9 § o5 7490
fordr, &1 afedet aro &9 RBer on wEar § 7

(1} & 2 5 (3} 4 ' 4) 3
By how many percentage the powerin a lamp decreascs if the current
drops by 1% P

%ﬁwﬁmﬁﬂﬁ%mﬁzuﬁl%mﬁmmﬁﬁmw
Fraat afererg a2 s ?

0 2% (2) 4% . (3) 1.01% 4) 1%

32
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The time required for 1 KW heater to raise the temperature of 10 litre
of water through 10°C is :

(1) 210 sec. \,(4}/42{1@. . (3) 840 — (4) 1000 sec.

10 e R & AW 1oC a% sor F 1 fReare &l T AR
o9 @ 7

(1) 2I08H°S (2} 420THE  (3) BAOTHET  (4) 1060 GBS

In producing chlorine through electrolysis 100 KW power at 125 Vis

being consuméd. How much chiorine per minute 1s liberated ?

[E.C.E. for chlorine is 0.367 x 10% Kg/cl

J{f 176gm © (2) 276gm (3) 378gm (4) 48.8 gm

-

100 PrefraTe o aur 125 AT AR FHEXIERTE PR e e e
FCT ) 3G ufy Pree RBeeen F8a e P 7

(78 @ dotiofo = 0.367 x 10 PRAT/c)

(1} 17.67M (2) 276%™ (3) 378;H  {(4) 4887

A magnet makes 5 oscillations per minute in earth's magnetic field
(H = 0.3 gauss). By what amount should the field be increased so
that the magnet makes 10 oscillates per minute ?

gt & AT @ (H = 0.3 gauss) ¥ TH TF5 5 2o afy e
malmh%mﬁmqﬁﬁmmﬁwﬂ
Ao Wiy e 108 I 7

ﬁl#ﬁw {2) 0.6 gauss E310?m L_Eaa?s

33



14U/ 11510411}

94,

95.

13 M

A 50 W, 100 V lamp is to be connected to an A.C. mains of 200 V, 50
Hz. What capacitance is essential to be put in series with the lamp ?

200V, S0 Hz <. € A9 ¥ @ 5091, 100 8% 1 &7 AET AT T |
g 3 A F9 F omavas e GuiiE ofrer omer wfda ?

(1) 324F (2) $2uF (3) 72uF (4) 92uF

The reactance of a inductance X, in an A.C. cirEiJit varies with
frequency 'f' of the source voltage. Which one of the following
represents this variation correctly ?

I X, ¥ oftvamar o, ooy § omgfa ‘P & v oRERfT g
v & gien & | PR § B9-ar o 9d oftads Prefaa s
7

X X
XL Lo

0 A

34
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99.

14U/115/10{H) °

The total energy of the electron in the hydrogen atom in the ground
state is — 13.6 eV. The kinetic energy of this ¢lectron is :

U AT 9N BRI E: araear & At - 13.6 eV
m%aﬁt-mm%:ﬁ = _ﬂ

(1) 13.6 eV (2) 27.2eV (3) 6.8 eV [4) 3.4 eV

. Trium has a half - lifc of 12.5 years for p—decay. The fraction which

will have decdyed after S0 years :
%;T ¥ Aftem wr sdory 12.5 9% B 50 a9 U¥E HY ATT

(1) 1/4 o§2) 3/4 (3) 1/16 (4) 15/16

Pure Si at 300K has equal electron (n) and hele {n} concentrations
of 1.5 x 10'® m=, Dopping by indium increases (n,) to 4.5 x 10% m.
Calculate n_in the doped Si :

(1) 5.0 x 10° m™ (2) 55109 m™

{3) 6x10°m3 (4) 9x*10°m?

300K ¥ & FaffeT ¥ €0aT Sq9IT (n) T A (n) A
1,5x10“m"%|5ﬁ’3‘ﬂ“1ﬁ%%m{nhlgﬁ-m%
4.5 x 10%m>, g% e § (n) BN G = ?

{1) 5.0 x 10° = (2) 5.5 x 10° HI?®

(3) 6 x 10°% (4) 9 x 107 W3

The forbidden energy band gaps in conductors, semi-conductors &
insulators are Eg,, Eg, & Eg, respectively. The relation among them
is :

arers, oA Sl ¥ wRiAET o ds IR A Eg,

Eg, el Egat| E’I-E o TEY B
(1) Eg= Eg,= Egy- (2) Eg,< Eg,< Eg,
. 13) P> BB 4) Bg< B> Bey

35
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100. What is the sum of two binary digits 10011 and 1001 ?

< g8 e 10011 99T 100t &1 4FT 97 &5 7
(1) 11001 (2) 11100 (3) 11111 (4} 10111

36
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Section - IIT
ey - I
Biology
{(Marks ;: 150)

101. Which of the following is the proginator for the origin of first living
cell on the earth ?

JA RNA {2) DNA (3) Protein (4) Lipid
B 7 & Row wome Z1a qgw oiET] SfEe  Safh gefl w@
g o ?

(1) 9T (2) fgdn (3) G (4) fafos
102.In which of the following DNA is not found ?

(1) Mitochondria (2) Nucleus

(3) Peroxysome (4) Chloroplast

v & ped & o @ 8 g St & ?

(1) A=A (2) gf¥EEw

31 YAfFadm. (4] TAIRIERE
103.Formation of RNA from DNA temnplate is called :

(1) Transition (2) Transcription

{3} Transfection (4) Translation

09 T IEE 9 AR OF € F94 8 e @ e ¥

(1) e | | (2) SRR

(3) EreraRT (4) ghadae,

Ll T

a7



V14U 115/ 104il)

104. Which of the following is not correctly matched for the organisms
and its cell wall degrading enzymes ?
(1) Bacteria — Lysozyme (2) Plant cells -~ Celiulase

(3) Algae - Methylase (4) Fungt - Chitinase

g g It SRR Prefes oy 3 e Frafaise §
7 wel e adt & 7 1

(1) i - AEEeTEA (2) R HREEE - AT
(3) derer - Premgast (4) T — B

105.Who proposed for the first time the "three domain” system for

classifying living organisms ?
(1) R.H. Whittaker \[Q/Carl Woose
H

{3) Bentham and Hooker (4] Engler and Prantel
Seg-ay = FEitecer AT SR A admem BREe e ar ?
(1) oY, oo, 2w (2) Aot
(3) ¥=w AT T (4) XY I D=w

106. Heterocyst is the site of
(1} CO, fixation (2) N, - fixation
(3) Photosynthesis (4} Starch Synthesis

A @ (o) &ar B
(1) co,Refiwtor & R (2) N ferdemy 3 fag
(3) wHEERTT S R0 () = Y @ R

38
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107, What is the product of photophosphorylation ?
(1) PGA (2) ADP (3) ATP (4) NAD

BIETRIERIRAT &1 IqE 747 & 7
1y s (2 sHF (3 vdHd 4) T &

108.The red rust of tea plants is caused by :

(1) Puccinia . (2) Cephaleurcs

(3} Prion (4) Xanthomonas

B N 9T o e W owE |

(1) vrfifar (2} HEogow

{3) Maita - (4) HEET
109.in thurm, meiuﬁc division takes place in :

{i) pratoncnﬁl cells | (2) antheridium

(3) archegonium (4) capsule

wgftar # el R w6t S ¥ 7

(1) WEme St o 2) uwffegn o

(3) onFriygy | (4) Fga o
110. Which of the following is considered as the most primitive stele ?

{l) Siphonostele {2) Protosteie

(3) Eustele (4) Dictyostele

Pretfafera § ¥ 9 wa@ omm v Wl ot ¥ 7
W RS (@) S @) G (W

39
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111. Heterospory is found in :

(1) Lycopodium (2) Adiantum
(2} Selaginella (4) Dryoptens
frowdfiemopen fea ordt R @ 7

(1} mEFETT 4 2) gfRv=w#
(3) RAfsrer & (4) grERRa ¥

112.The F, genotypic ratio in a monohybrid cross of pea 18 :

wex # AAEEis Ha § Fd @ e agae gk # o
(3 2:1 2y 3:1
@) 1:2:1 (4 ©9:3:3:1

113. Isomorphic alternation of generations is found in

(1)  Funana (2} Riccia

(3) Rhizopus ' (4) Ectocarpus

gradl Ofeat & gwraeer ey qrr T ¥ 7.

(1) wgfar & 2) Repferar &

(3) wFvTE # (@) zFIEHT
114.A well-known naturally occurring auxin 1s : |

(1} 2,4-D L {2) 1AA

{3) NAA (4) Maleic hydrazide

s ST wpfae Wy @ argr I aren iR ¥

(1} 2,4-D (2) [AA

(3] NAA . (4) g wEErnEs

40
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118. Which one of the following wavelengths of light is absorbed by the
phycocyanin pigment ?
(1) 420 nm (2) 540nm (3) 610 nm (4) 660 nm

' P % B OF TEE-GT SEREREE avis Z ggfee gk
L3

(1) 420 A=FeT (2) 540 A=HET

(3) 610 FHRET (4) 660 AHHET
116. Azolla is an important source of :

(1) Biopepticide (2} Insecticide

(3) Biofertilizer (4) Herbicide

gHeT O e w ® o

(1) TEATHES B _ (2) FTAFEEEE W

(3) wrrwHideEeT W (4) wEEIES W/
117.'Gladiolus' belongs to the family :

(1) Liliaceae (2) Compositac

(3) Iridaceae ' (4) Malvaceae

dfyala’ few o & st ¥ 7

(1) fafmodr & {2} =i |

(3] O34 /@ 4) wWiTAE ¥

118. The first product of atmbsph:n}c nitrogen fixation in leguminous plant
is

{1} NO, (2) NH,
(3 NO,. (4) glutmmate

41
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Felrare gredt § aEEy ARge B Rade er s 9 39 SH-91
2 '

(1) =EgEE (2) SR
(3) e (4) g
119. A single gene affecting more than one phenotype is called -
(1} Pleiotropic (2} Auxotrophic
{3) Azotrophic {4) Pleictrophic
O off W O & it deRT &Y oaRE e s
(1) wheagifes (2) SAFEPRSE
(3) Cagtitees | (4) <iigErETeS
120.The process of photosynthesis in green plants is most active in :
{1) ultra-violet light (2} green light
(3) red light (4) yellow light
BT Ot A srprer-weAwr # B wad aftes frad wfeg @k R 7
(1) ITET-TTAES T | (2) B 99T F
(3) T WeprsT F {4]'ﬂa‘ﬁiﬁrﬂTﬁ_

121. The female gametnprytc in angiosperms is

(1) Carpel (2) Egg
Embryosac (4) Owvule
SFTE Nt # B ARy der & 7
(1} =g (2} =7
(3) HUTERY (4) dromes

42
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122.Peroxisomes are associated with :

(1} Photorespiration . {2) Transpiration
{3) Fermentatibn (4} Movement
Juiyaam & gy Bl 2 7

{1} YFHN-59G9 9 (2) e 8§
(3) WBpvaq & (4) Tifer 9

123. Potometer is used to measure the rate of :

(1} Plant growth (2] Respiration

{3) Photosynthesis (4} Transpiration

qraftey 1 S9QnT & &, A H -

(1) d9at 7 gie (2) =FET

(3) HHRELATN (4) aeqIEESE
124, Which of the following is mot an antibiptic ?

- (1] Streptomycin | (2) Chloromycetin
13) Aflotoxin : (4] Penicilhin
Prefafe # | A gfeoe g T8 & 7
(1) <A (2) FROEEERE
(3) woArEfEEE - (4) fREReE

128.'Jumping gene' in maize was discovered by :
{1) T.H. Morgan (2) HG Khorana
(3) Barbara Mc Clintock (4) Beadle gnd Tabsm

43
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ek # wfegT MW fRER @von o ? _
(1) FH.u=. "5efE A (2) TH. A, | 3
(3] =R ¥ F=E A (4) fr=w o 2ew A

126. Euglena is a member of kingdom :

{1} Monera (2} Protista
(3) Aimalia (4) Plantae
G, S HEE €
(1) == (2) MR
(3) oAfer (4) =
127.Excretory organ found in cockroach is :
(1) Malpighian tubule {2) Metanephridia
{3) Green gland (4) Solenocytes
e & Sogeft ofm 9@ o % -
(1) Aviftms fesgm (2) AeriEE
(3) W= Tfdy  (4) AT
128. Zoological name of filaria worm is :
{1) Taenia (2) Ancylostomna
(3] Trypanosoma (4) Wuchereria
TEAR B HlEre] & o A Aer ¥
(1} @ (2) CFEIEAEIT
(3) R¥Fgmr () geRRar
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129.Balanoglossus is an example of :

{1)  Urochordates (2} Hemichordates
(3} Molluscs (4) Cephalochordates
L[ G EEIES Lo l‘.{?-‘ﬁ IETETT ’

(1) gu=HSA . (2) SiEcw

(3) WNITF (4) HrbarEiza

130.Which one of the following statements regarding cnidarians s
inoorrect 7

{1} They are so called because they possess cdocytes in their body.

(2) They exhibit ability to change their basic body forms by a process
of metamorphosis.

(3) The undergo metagenesis giving rise to polyp or medusoid body
forms alternately or remains in any one of body forms in their
life.

(4} They exhibit tissue level of organization and are diploblastic.

Preffer A @ A sy PR & gad A e & 7

(1) 39 FRRg R w23 T 0% I8 i 7 FEiase
PR Bl ¥ | '

(2] A T @ Bt & o ik A sRga =@ET A/
uRafda w@ & daa wafila @ &)

(3) ¥ ot ol Agwr v WET B EHRT BT F T W
Y F FWa FUT & A1 A g A oF & R wWE
¥ ug ¥ |

@) X T TR WIS B RiT wT B o frerdT 93 ¥
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131.In human beings, Taenia solium is found in ;

(1) ducdenum (2) large intestine
(3] small intestine (4) rectum

arAa A, v wifems g swn 8

(1) - et # (2] == offe H
(3) o offa & (4) TEmE

132.Leech is a blood sucking animal nutritionally, therefore leech is :

(1} ecarnivorous (2] sanguivorous

{3) herbivorous (4) omnivarous

N9 B [ St R guS amen oy g, Fafme oifE ¥

(1} #rsmer (2) ﬁﬂsﬁw(mﬁlﬁﬁj

(3) SwEHTETH (4) waTED
133.Vertebrae in birds are :

{1} heterocoelous (2) acoelous

{3} opisthocoelous (4) amphicoelous |

rifeat & wmdresh aeht ¥

134.Cuboid bone is associated with the structure of :

(1) Tarsus (2] Metatarsus
(3) Carpus (4} Metacarpus
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gAY A Y "ot @ gt ®
(1) o6 (c=d) (2) WER™EE
(3) wHdH _ 4) AeEdE

135.The sequence of blood flow from heart to gill in fish is :
(1} Bulbus arteriosus —ventricle —atrium —sinus venosus — Gills
{2]' Smﬁs_vcna@ua —»atrium —ventricle — bulbus arteriosus — Gills
{3) Atrium —sventricle —sinus venosus —»bulbus arteriosus —Gills

{4) Sinus venosus -sright atrium —right ventricle —left artium
—right atrium -»Gills

wafedt % =g @ RSl W R WA P 98 Bl W B o

(1) wFag g > RBreg - sfa > ffeg - e
(2) dgTa ey sfas - g s oRieita > s
(3) I ->FFE-aETE g awsm R ReEHT - T/FS

(4) GEIE ANEEoaE AReE Il et el o et
AT - THS

136&.In mammalian kidnc_?. pbdocytcs are found in :
(1) Proximal convoluted tubule (2) Distal convoluted tubule

Jﬂ( Glomenaius (4) Collectiing duct
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137.Which one of the respiratory pigment is found in oxygen transport in

mollusks ?
(1) Haemoglobin {2) Haemerythrin
{3) Chloroctruorin {4) Haemocyanin

graen § stedie= oftaes & Bl Si9-91 sad= FreRioten gredt Fedt
e 7

(1) drerenfyE (2) EmgRE=
{3) FArOERgsifE (4) EwrEEtE
138.Enzymes needed to digest food in the alimentary canal are ;
(1} Kinases {2) Hydrolases
(3] Lyases (4) Isomerases
ST ¥ Mo & 999 # gyas frogs ¥
{1) FZAAE (2) ITRFAAT
{3) WETHH (4) SEERATAY

139.in biologic membranes, integral proteins and lipids interact mainly
. by: |
{1) hydrpphobic interactions (2) hydrogen bonding
(3) covalent bonds {4) ionic bonds

S el 3, wareRe WA ofT qand ot Reand gem Wy @
FHET @

(1} <=l 3-gr Bl arr

(2) FERTT T BRI

(3) uHEHANTT T} FTa

(4) e T @
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140.The process of transformation of spermatids intc spermatozoa is

calied :

@spermamggncsis (2) spermatosis

_{3) spermiation (4) spermeosis
ydpete] T gpery]  mErRer o fafr o wed ¥
(1) SEFHIET<I{oT- (2) EHeTdE
(3) waffose e 4) widgfas

141. As a result of cleayage of the zygote, the 8-16 cell embryo is cailed :

(1} blastomere (2) morula
(3) blastocyst (4} trophoblast
T B RS @& 816 DR 4 A Fed ¥
(1] sEHET (2) W@
(3) s (4) TYREART

vl

142.The expanded form gf the discase AIDS s :
(1} Acquired Immune Deficiency Syndrome
(2) Acquired Inner Deficiency Syndrome
(3) Acquired Inner Deficiency System
{4) Acquired Immune Deficiency System
AID ST o1 g wq ¥ ¢
(1) wEaEd A Rl e
(2) e Y RfERE R
(3) wEETae T RFERASD Rwew
4 wEEE ey A R
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143. Chromosomal theory of inheritance was given by :

(1) Gregor Mendel {2} Hugo De Vries

Mntton and Boveri {4) Correns and Von Tschermak
ATFERER & OrRE Rmr & T e

(1) ¥R A=d & (2) sgN & W =T

(3) |geT ok ad = (4) F| M7 g= AF T

144.Central dogma in molecular biology suggests that the genetic

information flows from :

(1) RNA DNA —Protein (2) DNA —»RNA —Protein

(3) Protein -»RNA _»DNA (4) Protein —DNA —RNA
st dfafaeer § g Rrer gam 2 3 B srgaiftes gae &
marg & ¥

(1) RNA 5DNA -TdF (2) DNA »RNA L8

(3} MEFTRNA —-DNA (4) TEATDNA HRNA

145.hn RNA is converted into mRNA by a process called :
(1} Editing (2) Transformation
{3 chlicatim} (4) Splicing
hn RNA @& Rfff &1 mRNA # =goren 8, e ¥
(1} IE fHAm (2) =TT

(3) far @) wEEf
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- 146.End product of glycolysis in erythrocytes is :
(1] Pyruvate (2) Acetyl CoA
\_[y/l.actatc . (4) Glycogen
TPl PR & R B SR s ¥
(1) Ugsde . (2) ufdfEs spo=mEa,u
{3) FR= ‘ 4) TR -

14T.According to Landsteiner's law, the persan with blood group A will

have one of the following agglutinogen : agglutinin combinations :
(1) Aa o 2) Ag
(3) Awithno  or § (4) Awith ¢ 8

FuwEhoe B PIONIER, A TR GuE A sfe § Prafiles § A
o e T QR - TR &

(1) Aa | 2) AS

@) A% g g g (4) AP UHbqg S

148, After analysis of a DNA sample, the mole percent of base ‘A’ was |
found to be 20. Following the Chargaff's rule, the mole percent of
" base cytosine will be :

DNAW%W%W*A'WH%WEDWWW
Prafafas arhs Prm 3 SgeR QEAET gk & A ARk 8

(1} 10 (2) 20 (3) 30 . 4) 40
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149.Which of the radioisotopes was used to label T2 Phage DNA in Hershey-
Chase experiment to prove DNA as genetic material ?

DNA @ HATaiies W e & 3 o &@-391 s9qrr 129
DNA &t Fifta e @ &Y Se-gr Wsdramssey g3t e @
qr ?

(1) °H (2) 120 (3) 3sg [4] »p

150.[n quite condition, expiration is caused by :
(1) Contraction of expiratory muscles
Relaxation of inspiratory muscles
(3) Contraction of inspiratory muscles
(4] Rflaxatinn of expiratory muscles

a9y |, SgEYe 1 sRoT far 8
(1) S=gataa W = gy

(2) =gy ARG @ Raw

(3) orT:yEfHe AfEt @ Regear

(4) Iegantaa ARt @ Rysm
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